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What is, ‘Bakoil’ — Y02 9R»

Overview

There is a discussion in the X3, what the word 32" in the P09 of  yIxX “5
TIRY NN 798X D2°NINR, is teaching us. One opinion is that it comes to include that
70 Y °na are also 2°217p2 R (like AR 77w 70 and 201307 °n2). However
(asks R1"27 to "WR 27), according the one who maintains that 1"va are not 59X
0°217p2, and the 05 of "3 onNNAR YR 9227 is teaching us that it is a 7217 for the
0°217p to redeem the 7R 77w and 0°7%¥n7 °n2, why do we need the '222'. The X713
remains by a Xwp.

mooin clarifies the question, 932 >Kn:
- 29952 £Y98NA N2 ZN2IN WAYPY ATNNR NTY 198NRWI YINY 13NN NYING 21035

Let the 7100 just write, '78Y ann 79R3', and we will know to establish it as a

727 by 1R 77w (that the 2°2179 must redeem it), and 29817 °n2 are included in
this 712117 Wwaph. Why do we need the 922",

mooIn asks:
— *y9ay Y73y 11399 SINT N1IOY AINRD DON)

And if you will say; let "wx 27 answer that 752" comes to include ¥''¥ that he too is
0°217P2 ORAL.

mBoDIN answers:
= VPP NINNT 21999 9929D SNNT NPT YNIYNT 9D YN

And one can say; that it seems to *wX 27, that 521" comes to include something

which is related to the redemption of ypap -
£19°291 "YIN RPIT WM *YIN 9929 291919

As is written, "3 InD 7213 DONMINR AR 2227, indicating that we are including

Paa,m (772) X7, This 105 immediately precedes the 7w of AMAR 77W (112-712 QW).
% The 09 of 31 DINNAR yX 2221 immediately precedes the 7w of X"w 72m (see footnote # 1), therefore it requires
the 0°217p to redeem.
3 Regarding the 0>18n:77 *na the 710 writes (in 82,75 [172] ®p*1) that 2wn> yaRg 37w 9; the rules that govern it are
similar to the rules of amnX 77w (except where the 77N decrees otherwise [explicitly] like regarding 71 9X3°?).
* The xn™2 clearly sates ¥"¥1 o°na n121%. The actual p105 of PIX? 11NN 723 teaches us 721 WP by X"w 701, the
extra word 932 teaches us that an ¥"v is (also) 0°217p2 HRA.
5 This means an X W°> o017 ¥"V; regarding an »121% 101177 "V the 770 clearly states (un,73 [172] RIP™Y) 12 1R 1717 W
131919820 1717, that he is 0°217p2 HRAL.
® The »12 of the word 932 is placed adjacent to the word 79X, indicating that the »12™ is regarding 7K.
7 See ‘Thinking it over’.
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specifically only land but not 2°72¥.

Summary
We cannot say that 9321 is ¥"v 71277 since it says YR 7923, indicating that we are

12772 something which is 7.

Thinking it over
Mmoo answers that we cannot say the 221" comes to include ¥"y for 0°217p nR3,

since the P09 writes PIX 9523, this indicates that it comes to include PR
specifically, but not an 72y, who is not yax.® However the xn»72 explicitly states
that the P10 of "3 X 9221 includes ¥"¥1 2°n3, so how can MdOIN state we cannot
be ¥"y 727n from 21?1’

8 See footnote # 7.
? See X"wmn.
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